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CROSSWORD PUZZLE CLUES



Across

	1
	an atom of carbon-14 has this many neutrons

	4
	calcium is classified as this type of element

	5
	a lithium atom has this many protons

	9
	these run vertically on the periodic table

	12
	fluorine is classified as this type of element

	14
	[bookmark: _GoBack]an atom is this if protons and electrons are equal

	15
	a neutral chlorine atom has this many electrons

	16
	this whole number on the periodic table gives the number of protons in each atom of an element

	18
	silicon is classified as this type of element

	19
	there are this many periods on the periodic table

	20
	this is at the center of every atom

	21
	this element is in group 18

	23
	this element is in group 16, period 4

	24
	this subatomic particle has a positive charge



Down

	2
	this is the only element on the left-hand side of the periodic table

	3
	this element is in group 13, period 3

	6
	there are this many groups of elements on the periodic table

	7
	this subatomic particle has no charge

	8
	subtract atomic number from mass number to get the number of these in an atom's nucleus

	10
	these run horizontally on the periodic table

	11
	this subatomic particle has a negative charge

	13
	sum of protons and neutrons in an atom's nucleus

	17
	this element is in period 3, group 2

	22
	an atom of hydrogen-3 has this many neutrons
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